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Part III — Vocational Subjects

(Engineering and Tec‘hnology Area)

SLigL Uit euemyeuneni / DRAUGHTSMAN-CIVIL

(s0p wHmID e euyl) / Tamil & English Versions )

Gmirid : 3 wenfl ] | [ Qmﬁ§§ wHCuemger : 200
Time Allowed : 3 Hours ] ‘ ; [ Maximum Marks : 200
Sfleyewy : (1) Siweasg damsseEpnd #flurs uHeurd o drargr aTLmSman _

sfluriggs Qarerareyd. Fsrinfeled  Geonud Qe
S@mpseamsraeiuraril_id o L anqurss Qsflelssay.

2 fow ooz smLY @ovloar LLECL WS USHED,
SN3&ECsMHaughGL LwaTUBSS CoumBib. UL ST eumFasnea
Quendled LweTuHESeyb.

Instructions : (1) Check the question paper for fairness of printing. I there is any lack of
‘ fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.
@il : () Csemeuwrer @Liiselldr Ogeafeurar L aueys.
() sroEgleolLi Lwau@sgieug Siaidssin Herers.
Note : (i) Draw neat sketches wherever necessary.

(i) Use of calculator is permitted.
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LGS '- I/PART -1
GOl : SiemeSS) aﬁ]mrrésa;@é;@m"aﬁlm; T(PSELD.
Note:  Answer all the questions.
L (A)‘ sflwrer alenLemwg CoMBOsHEE eT(PSIS. 15x1=15

| Choose the correct option.

1. @ a6 SLenLWTeng GI'GOT‘&@)Q&%G; S wHssILBHD HsLs

sfley :

(1) 22° (@)1

(®) 15° (/F) 18°

For a roof to be called as a flat roof the maximum permitted slope is :
(@ 22° ' () 10°

() 15° d) 18°

2.  aarargder Coemawmear Hingesl Cup

(1) urliy QurpeTser () 2 eriumeTgeT
(@) Bplser o (rF) Snglinen. Qumrperger
" To obtain desired colour in paint _ is used. |
(@) Carrier (b) Drier
(c) Colouring pigment (d)' Base
3. Qpeflwrer wiguilalu ss@seflan Higoen .15, g
WO.18. eueny.
(1) 0.2, 0.66 (<) 0.7, 0.9
(@) 05, 0.8 (/) 0.3, 0.5
The thickness of corrugated aluminium sheets vary from __ mm
to mim. i
(@) 0.2, 0.66 : () 07,09

() 05,08 v d 03,05
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waflger gar werblel(pFfsamer AeuaflliLBsse|bd, &G mFLITS

QEweuL e ausdlurs siemwdlng.
(<=1) WS EmET (<=y,) Camulle
(8) &5 (F) G
facilitates a man to express his feelings and to act mdependently
(a) Hospital (b) Temple
(c) House (d) Caves

grgryent Blanewulledr gHuireudluis ng,sma_lasg TBLIIT- @617@153@ IGITeT
@amsE@ES Coamauiu@b Bller erey.:

(=) 165 & (<) 185 &

(®) 135 & () 170 &8

The domestic consumption of water in litres/capita/day under normal
condition is : )

(@) 1651 (b) 1851
€ 1351 d) 1701

________ __ uweru@sgieugred EETCuTT Femerti &L awrid
o LGurssSHCanorT CuTe euEGOGSILIGADS.

(=) Gru (<) eumeba

(@) Bir erenauLomest (FF) evLmisTs

If are used, consumers are charged according to the usage of water.
(@) Tap (b) Valve (c) Meter (d) Stopcock

Bl (pseend sMIEHEG TOSHESTO G0,

(1) wenpfi (<) BL

(@) eadmy (w) BisCasaid

An example for the primary source of water is :

(@) Rain (b) - Sea

(c) Spring (d) Storége reservoirs
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10.

11.

4

sl ffled spfmsgh BssE0 HLQurmerer AUTmSS)
SlemwElng.

(=1) Hipb | (<3p) WewTLD

(8) seris® () Qeuliubleneo

of the sewage depends Adirectly on the quantity of solid matters
present in suspension state.

(@) Colour (b) Odour
() Turbidity (d) Temperature

Pogsy sroeuml oag srésamL pers shlebar Qasrear®
QFeeug ‘ A GLD. _
(=) sy Gomis (=) sflaybir Gpmulen oiqleref

(@) peauried () g

is the underground conduit or drain through which sewage |
is conveyed.

(a) Sewer (b) Invert (¢) Inlet (d) Catch-basin

Qrris cuanend F&ErSHe o drer cperm SligluemL Hpriser

(=1) @psar, feuliy, Heold
(<) LoD, 2@, oapn
(@) weEpeer, LFmE, BoliLFme
(FF) ey, TEH&H, 2argm
are the three basic colours in Prang Colour Wheel.
(@) Yellow, Red, Blue
(b) Green, Orange, Violet

(¢) Yellow, Green, Bluish green
(d) Red, Orange, Violet -

Qumrdlwirer srifeluler Berid @b

(1) 150 =g (=) 100 i (8) 66 21 () 125 oig
The length of Engineers’ chain is :

(@ 150 ft  (b) 100 f. © 66ft  (d) 125ft



12.

13.

14.

15.
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gafluflwed FgiFb _ __ Sinds 2 S Slngl.
(1) HlenLggamid () Qeii@ss somd
(8) gl ibd : () QemGsmenTid
Optical Square is used to set out :

(a) Horizontal plane (b) Vertical plane

() Datum line (d) Right angle

Sreussreny (Jet) el Lioreng gienemuden el L SHDE

(1) Coumuil L gy (<) FWLOID

(8) fdlug () Quilug

The diameter of jet is when compared to the diameter of hole.
(@) varied (b) equal () small (d) large

alLalgal Gorufer el b ‘d eremmmed g6 Fr& SHmaTey

— HGWb.

d
(21) md (<) bxd (@) bx2d (") 7
The wetted perimeter of a circular pipe of diameter ‘d’ is

d
(@ mwd (b) bxd (c) bx2d (d) 2

Levana|fls Gy ienwds sienn

(=) BEHL Qurgtiuais e

() @pSu GrilaGas genp

(@) efwren CUTEGUTSSIS SlenD

(F) @enau ergLilevana

Which department was formed by Lord Dalhousie ?
(a) Central Public Works Department.

(b) Indian Railway Department.

(c) Air Transport Department.
(d) None of the above.
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(B) 1 Qewreu(mLd aﬂmn&&m‘@QOnm@m@m @flgp aurismssaie
evwefldsab. . - 15x1=15

Answer the following questions in one or two words each :

16. Fmenr&eT ereueurm euansLILIRSSILBS emen ?

* How are roofs classified ?

17. gmieuren saenguden 2 &0 ugHuler GQuwiQremer ?

What is the name of apex of the sloping roof ?

18. s@LWO@PUIG GODHSULE SiaTey ereuaeTa) ?

- What is the minimum size of a kitchen room ?

19. uw eus@w dsTiyseflean umssmer samis.

State the classifications of sedimentation tanks.

20. B ggryhiseailer @ Wlleysdr wrane ?

Write the two classifications of sources of water.

21.  asfleyfi eremug wrg ?

What is sewage ?

22. sOREH leTEHEs.

Define Turbidity.

23. augeusdlen @ Wileyser wreneu ?

What are the two classifications of design ? .



IL.

24,

25.

26.

27,

28.

29.

30.
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srfed flo erémsdled ghudD Gepser wree ?

What are the two types of errors in chaining ?

@i grfledulen Berbd ereen ?
What is the length of Gunter’s chain ?

Eflen eran_&@h, san aralip@Gd 2 arer Mg eramemQeuenmy

SimpssLuhHng ?

How is the ratio between weight and volume of ﬂuld called ?

raaums Qaplidle stHps Ghome Lwuau@SsLILGEDg ?

In which type of pump air vessel is used ?

s sraogsld aisman BamL Frapa&sdr HewssEIULLar ?

How many number of long roads were constructed during Mughal

Period ?

< ribL s(Hioren Csoe) Hsb C‘Sg,ema.iuu(al.b FTENGL Wmg ?

Which type of road has high initial cost ?

&U9EFTN MLEGL GIaT(H PDEET Wreney ?
What are the two methods of construction of gravel roads ?

u@E$ - I1/PART - II

aCseid LSS NamésErsE WL @m@mnm@m@m wES aursSHwrkisefled
MenLweflGseyb.

Answer any ten questions in five lines each.

31.

32.

Wl srULL Qummer upd eferéEs.

Define : “Electrical insulation material”.

euarenTLILL&&saflen (Paints) LIWGTSET Wreney ?

What are the uses of paints ?

10x4=40
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33. oi( sLQCurg QL& Aesasams eraleurn sl t9iqéss GauamrHb ?

How will you follow the roominess while constructing a house ?

34. B euignAufer euensEHeT Wireneu ?

What are the types of filtration ?

35. B & (pepmullen HETEMLOGENET 6T (SIS

What are the advantages of water carriage system ?

36. aurGeupy on&E LwarL@SsLILEL SLOWLO smoreasefien Cluwif
GTeumeoT?

What are the furniture used in living room ?

37. flp GHILIY - Z1EE G pred.

Write short notes on plumb bob.

38. WL ersEms - leTHEs.

Define the term “levelling”.

39. euenywm :
(=) SALi5E
() pUULISS
Define :

' (@) Density
(b) Relative density

40. Sm @LIL] eTETmED GTeva ?
What is meant by Minor loss ?
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41. s _(QurarsdnEel LwearuGssu@Gn Qurmlseailar g liLemeuld
FTOUI T UEMESHET WTemal ?

Classify the roads according to materials used.

42. ST 8 FIUD eTNHTE 6Teme ?

What is meant by sight distance ?
U@ - 11 /PART - III

aTaauCuab P damssErs@ WLOD gatdaradhEh em Uss
Sjereiled aflenwieflgsa . Caameatwrer @Lhigealld LLLD auamrs. 5x10=50

Answer any five questions in about one page each. Draw diagrams wherever necessary.

43. Qi grev Quyev saeny LHM efleurl.

Explain Madras terrace roof.

44. &0 sG> Curg G D ey SMLESLILGEDS ?

How is living room positioned in a house ?

45. unglsrésLLLL @bt efCGurssder ieuflub wHmb Qurgd GuBi
AFICwrss HiLsHen WéHwdgeud wrg ?

Discuss the need for protected water supply and importance of public water supply
scheme.

46. FipsHen GEESET Wree ? LLSHIL 6T efemiEs.
What are the characters of colour ? Explain with sketch.

47. gaflliued sgrsden simwlomuwb, g Cuma Galwyb lgsmsub
LD euenrbg efleul.

Explain with neat diagram the construction and working of an optical square.
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48. evweie&EE Qeplulbeawubd, uflvrbny @eaplbGawun llhHs.
Compare between centrifugal pump and reciprocating pump.

49. srepaCGury by Geuermeamrenioudlen LILIEGTSET WTenal ?
What are the uses of road Arboriculture ?

UGS - IV /PART - IV

IV. etemeuGuenid mre@) elames@rsE LG eatarampEn Srer® usEs
gjeradled elenwiefdseybd. Coemeuwirer @Lmisafléd LILID aueys. 4520=80

Answer any four questions in about two pages each. Draw diagrams wherever
necessary.

50. gGsaib pHgl ems pelar s Hwrear QurmLsailar QUuTsmar erps,
Qeupern adleurl. ' '
Write any five types of modern construction materials and describe them.

51. &fleny wewred auignGuller LD euangbg 2ig Couana Qe wperperws
eNlend@s.
Explain the construction and working of Rapid Sand Filter with sketch.

52. ey ssHaflider uoCaun umssmen eleTéEs.
Explain the different types of treatment of Sewage.

53. @@ LLL Sasms sHelowus Asrar® eThsCuTE Sp&Team b
Sienaysar doLssl Quppear. Asamel Grariraug, BHSTS,
TLLITeUG SleTesEnrs@U Wer @ iorhmb Qv L g. 0.675, 1.230,
0.750, 2.565, 2.225, 1.935, 1.835, 3.220, 3.115 WHYID 2.875 8. aps6 jereden
G@D&sEILLL LD (RL) +100.000 5. Sjere|samer oL cuamenmudle
QLB wHp eareysaflen GonssiulL LM LTTamal WL
wperpuier sam®igss sf L. ‘

The following readings were taken by a leveﬂﬁqg instrument. The instrument
was shifted after second, fifth and eighth readings. 0.675, 1.230, 0.750, 2.565,
2.225, 1.935, 1.835, 3.220, 3.115 and 2.875 m. R.L. of the point of first reading is

+100.000 m. Enter the readings in a tabular column and find the R.L. of other
points by the height of collimation method.
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54. 3.8 ussqpeTer &5y augel 556 e Bl Qekigssrs eppiu Hlaaude

55.

2 drergl. @hHloaulidr igam CQLTEs WSS, (PSS @ww 2 Wb

S Fweuhennd Srenrs.

(1) s5ligen Copursd Bller Cuopurli_er @eaeanbgiererCUTS. .

() saligear Gupursd Fhar Cupurin9dimps 1 8 pwsdHe
epLpdluyerer Gumg).

Determine the total pressure and depth of centre of pressure when a square plate

of size 3 m is immersed vertically in water.

(a) - When top of the plate coincides with water level

(b) When top level of the plate is 1 m below the water level.

srene uSHESTET STrammG Wramel wHML luems 5HES
TH&SULEHLD UTGSTUL BLeUGSMSSET WTemel ? :

State the causes of accidents on roads and explain the safety measures adopted
to prevent accidents. ’

~-00o0-

6104







